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Instruction:
1. Complete the Hundred Chart Table above using Base Ten Pieces.
Suggested Questions for Teachers to Ask Students

2. 5 more than 72 is?
Use the Hundred Chart and the Base Ten Pieces to explain how you arrived at the answer. Then compare your
answer to 72 and state which is greater using the greater than sign.

3. 20 less than 4 rods and 5 singles is?
Use the Hundred Chart and the Base Ten Pieces to explain how you arrived at the answer. Compare your answer to
4 rods and 5 singles and state which is greater using the greater than sign.

4. If John started at the number 6 on the Hundred Chart and moved two spaces down, then he moved 3 spaces to the
left which number did John finished on? Use the Hundred Chart and explain your thinking by using the Base Ten
Pieces.

Instruction:

1. Complete Hundred Chart puzzles below using Base Ten Pieces.



Suggested Questions for Teachers to Ask Students

2. How did you begin working on the problem? Or What did you know already that helped you to figure out the
problem?

3. What do you notice when you go above, below, to the right or to the left of the number given in the puzzle?

4. If someone said that the number 22 was above the number 23, how would you respond? Explain in details using
the Base Ten Pieces.

5. What are the main ideas that you have learnt today?

6. How is this mathematical idea related to our everyday life? Identify two situation in life that require this
mathematical knowledge?

Real Life Problem for Equivalent Sets

There are three school buses going on a trip. Which two buses are depicting equivalent sets and explain your answer.
Bus A has 20 boys and 20 girls and 5 teachers

Bus B has 30 boys and 20 girls and 5 teachers

Bus C has 40 boys and 5 teachers



